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100085210000508 XUk 081000 SEEREIRE ES=k] SERE EE R TSR R 591.80
100085210000507 P 081000 SR5EEIRE E=k] eERE BRI FEIIT 581.60
100085210003234 FNvE 081000 SEEREIRE ES=k] SERE EE R TSR R 566.20
100085210005073 FA*IH 081000 SR5EEIRE =[8% eERE BRI FEIT 562.00
100085210000498 Wi 081000 SRSEELRE =B EESL EEERLIL FELH 558.00
100085210004162 E* 081000 SR5EEIRE E=k] eERE BRI FEIIT 557.00
100085210007599 =R 081000 SRSBEIRE =B =E5RE EEERLAL FZELH 551.40
100085210000517 BN 081000 SRSEEIRE ES=k] cESRE IEER AL ZELH 550.40
100085210007832 XU & 081000 SESREIRE ES=k] SERE EE R SRR 550.00
100085210003569 1y b ] 081000 SR5EEIRE =B8%! cERE BRI FTEIT 548.00
100085210007902 FX 081000 SESREIRE ES=k] cERE EE R TSR RY 547.40
100085210004518 15 081000 SR5EEIRE =B8%! eERE BRI FTEIT 541.80
100085210006335 Pt*iE 081000 SRSEELRE =B =E5RE EEERLAL FZELHL 541.40
100085210001089 ** 081200 ITEHRZEESRAR E=k] eERE EEERAL FEIT 586.50
100085210007798 = 081200 HEIREESRA =B eER*% EEERLAL FZELH 572.30
100085210001098 ** 081200 ITENRZEESRA =[8%! cERE BRI FEIT 570.30
100085210001106 IR*3% 081200 HENMZESRA =[H%! eERE EE R ZEII! 568.40
100085210004045 =y 081200 ITENRFEESRA =[8%! eERE EE@ERAL FET 566.30
100085210006150 FER 081200 HEIREESRA =B 2EFE EEERLIL FTELHL 563.80
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100085210007533 5K*ER 081200 HENMZESRA ES=k] SESHE EE R ZEII! 563.40
100085210006930 & 081200 HENRZESEA eS=] SESE FEEFl | EETH 561.00
100085210001088 ZR*SE 081200 HENMZESRAK ES=k] =ER*%E EE R ZEII! 560.90
100085210001114 K*F 081200 HENRZESEA eS=[] SESE FEEFL | EETH 554.90
100085210001096 ** 081200 HHENRZESRA ES=k] 2EFE EE R ZEII! 553.60
100085210001094 F¥ 081200 HENRZESEA eS=[] SESE ARl | EETH 550.50
100085210001119 =t 081200 HHENRZESRA ES=k] 2EFSE EE R ZEII! 545.50
100085210001115 Z* 081200 ITEHRFEESRAR E=k] eER*E EEBHL FTEIT 534.00
100085210005905 B> 081200 HENMZESRAK ES=k] SESGE EE R ZEII! 531.70
100085210001143 H*4n 081200 ITEHRFEESRAR E=E] SESHE EEEHL TETRY 525.80
100085210001093 k] 081200 HENRZEREAR 284 SEGE ARl | FRETH 523.80
100085210008349 BR*3N 081200 HENRESEA eS=[] SESE FEEFL | EETH 523.30
100085210000543 2* 085402 (BEHNE, BhEESF) ES=k] eER*% EE R ZEII! 591.60
100085210000569 BE& 085402 (BETNE, BahBES) E=k] eER*E EEEHL FEIT 589.80
100085210000567 2.4 085402 (BEHNE, BhEESF) =[8%! 2EFRE EEBHL ZEII! 589.60
100085210000523 v 085402 (AETNE, BaEEs) ES=k] cESE IFER AL T 582.60
100085210000525 K 085402 (BEHNE, BhEESF) E3=k] eER*% AEE R ZEII! 572.00
100085210003933 H*F 085402 (BETNE, BaBES) E=E] cESHE FEEHL FEITRY 571.60
100085210000534 w* 085402 (BEHENE, BBESE) ES=k] 2EFE AEE R ZELL 566.00
100085210000563 XI*75 085402 (BETNE, BhBES) E=L] SESHE EEBHL TEITRY 565.40
100085210010216 e 085402 (BEHRE, BBESE) ES=k] 2EFHE EE R ZEII! 564.80
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100085210000559 SK*ER 085402 BEIRE (RETWE. BiBES) =B =E5RE eI FZELH 564.40
100085210003030 = 085402 BEIRE (AEHNE. BalBES) =[8% eERE BRI FEIT 562.00
100085210009709 - 085402 BEIRE (AETWE. BiBES) =HH EESL EEERLAL FZELH 560.80
100085210007431 SKME 085402 BEIRE (SEHNE. BalBES) ES=k] eER*E BRI FEIT 560.00
100085210000546 BR* 085402 BEIRE (AETWE. BiEES) =B =EHRE EEERLAL FELH 558.60
100085210000558 5 085402 BEIRE (AEHNE. BalBES) E=k] eERE BRI FTEIT 558.40
100085210000526 gl 085402 BEIRE (SETWE. BiBES) =B EEaL EEERLAL FZELH 555.60
100085210000540 B> 2% 085402 BEIRE (AEHNE. BalBES) E=k] eERE BRI FTEIT 555.60
100085210003991 F* 085402 BEIRE (SETWS. BiBES) =B £EHRE EEERAL FZELH 555.00
100085210009325 K 085402 BEIRE (AEHNE. BalBES) E=k] eERE BRI FET 554.80
100085210004167 XU*R 085402 BEIRE (RETWE. BiBES) =B EESL eI FZELH 550.00
100085210010383 AR 085402 BEIR (AEHNE. BalBiES) =B8%! eERE BRI FTEIT 548.00
100085210004623 X5 085402 BEIRE (SETWE. BiBES) =B =E5RE EEERAL FZELHL 546.80
100085210000541 g 085402 BEIR (AEHNE. BalBES) E=k] eERE BRI FTEIT 546.00
100085210004165 w1 085402 BEIRE (SETNS. BiEES) =B =E5RE EEERLAL FZELHL 543.00
100085210000536 XU 085402 BEIR (AEHNE. BalBES) E=k] cERE EEERAL FEIT 542.40
100085210008203 KR 085402 BEIRE (AETWE. BiEES) =B =ERE FEERLIL FZELHL 539.80
100085210002860 3K 085402 BEIR (AEHNE. BalBES) =[8%! eERE EEERAL FEIT 539.00
100085210003875 T 085402 BEIRE (SETWE. BiBES) =B =E5RE EEERLIL FZELHL 538.40
100085210004622 ik 085402 BEIRE (REHWE. BiBES) =l cESRE IFER AL FZELT 538.40
100085210010204 A7 085402 BEIRE (RETWE. BiBES) =l £ERE EEERLAL FZELH 535.80
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100085210002894 =S 085402 BELIRE (REHNS. BilEES) ES=k] eER*% EE R ZEII! 535.00
100085210007714 K% 085402 BEIRE (AEHWE. BiBES) 2B EFRE IFER AL FZEL 531.80
100085210008291 R 085402 BEIRE (AETWE. BiBES) =HH EESL EEERLAL FZELH 529.60
100085210003992 #=E 085402 BEIRE (SEHNE. BalBES) =[8%! eERE BRI FEIT 529.60
100085210000520 TUTE 085402 BEIRE (AETWE. BiEES) =B =EHRE EEERLAL FELH 528.40
100085210003001 KA 085402 BEIRE (AEHNE. BalBES) E=k] eERE BRI FTEIT 526.00
100085210008251 w 085402 BEIRE (SETWE. BiBES) =B EEaL EEERLAL FZELH 523.60
100085210008783 R 085402 BEIRE (AEHNE. BalBES) E=k] eERE BRI FTEIT 522.20
100085210008648 SK*F3 085402 BEIRE (SETWS. BiBES) =B £EHRE EEERAL FZELH 522.00
100085210001154 I 085404 HERA 2B eESRE IFER AL FZELH 597.50
100085210007942 R 085404 =Lk 2N ES=k] cERE EE R ZEII! 593.00
100085210005906 =y 085404 TTEHIRAR =B8%! eERE BRI FTEIT 573.80
100085210001176 m* 085404 HHENSAR =B =E5RE EEERAL FZELHL 566.50
100085210006402 PR* 085404 HERA =B EE iy IFERHAL FZELT 560.10
100085210009629 RE 085404 RS =B =E5RE EEERLAL ZET ! 558.50
100085210001212 SRR 085404 TTEHIERAR =[8%! ER*E BRI FEIT 556.80
100085210001177 BT 085404 HESAR =B =E5RE EEERLIL FZELHL 551.30
100085210003372 [ 085404 HEERA 2B EESRE IFER AL FZELT 550.30
100085210008929 SK*F 085404 =Lk 2N =[H%! eERE EE R ZEII! 546.60
100085210003752 =R 085404 TTEHIERAR =[8% ER*E EE@ERAL FEIT 546.40
100085210007098 =3 085404 BT =[H%! eERE EE R ZEII! 546.00
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100085210008179 SBNE 085404 =Lk 2N ES=k] eER*% EE R ZEII! 544.20
100085210006274 B & 085404 B E=k] ER*E FEEHL FEIT 542.70
100085210001209 BRI 085404 HEEA 284 LESRE FEEEEY | TR 541.70
100085210001165 IHE 085404 HEHEA £A% SEGE EEEHY | FBEBR 541.20
100085210005333 XU 085404 =Lk 2N ES=k] eER*% EE R ZEII! 540.50
100085210005540 F* 085404 HEHEA £A% SEGE IEEEHY | FBETR 540.20
100085210010476 FHR 085404 RS ES=k:] LERE IEERH FZETL ! 534.30
100085210010431 fa*iz 085404 TTEHIERAR E=k] eER*E EEBHL FTEIT 531.70
100085210001194 FE 085404 TEHEAR ES=k] 2EFHE EE R ZEII! 528.00
100085210007651 5K 085404 HEHEA 284 SEGE FEEEHY | FBETR 527.90
100085210007291 B RE 085404 =ik 2N ES=k] eER*% EE R ZEII! 526.70
100085210009869 P 085404 HEHEA 284 SEGE IEEEHY | EBEBR 525.20
100085210005981 EHF 085404 HEEAR 284 SESRE FEEEEY | TR 520.20
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